Birchdale Cast Iron 0715 07/07/2015 16:35 Page 1 ﬂ&%

ACRY

[STOVES]

Birchdale

Multifuel Cast Iron Stove ® Model FB4MF
To be retained by the user for future reference
Thank you for purchasing an ACR Heat Products stove

AIRWASH
SYSTEM

Serial Number: ‘

Document FB4MF 0101 e Version 1 Date 06/07/15




| | Birchdale Cast Iron 0715 07/07/2015 16:35 Page 12 —(@)—

Parts Information




| | Birchdale Cast Iron 0715 07/07/2015 16:35 Page 13 —(@)—

Diagram No. Part No. Description

1 03.09244.005 BOTTOM PLATE

2 03.05638.005 ASH LIP

3 03.00395.002 FLUE COLLAR

4 03.52282.005 LEG

5 03.37696.002 AIR TUNNEL

6 03.02476.005 BACK PLATE

7 03.15381.021 COVER ROUND 168MM

8 03.07216.002 LOCKING PLATE

9 03.79346.005 SIDE LEFT

10 03.27419.005 HANDLE

11 03.79347.005 SIDE RIGHT

12 03.24473.005 FRONT

13 03.37105.002 AIR DEFLECTOR

14 03.37693.002 AIR TUNNEL

15 03.15510.005 DOOR

16 03.69242.005 TOP PLATE

17 03.00314.102 FLUE COLLAR @125 INSIDE

18 03.66545.002 FIRE GRATE

19 03.77527.000 BACK PLATE

20 03.77526.000 SIDE PLATE

21 03.77543.100 VERMICULITE BAFFLE PLATE

22 03.77430.002 LOG RETAINER

23 03.38036.000 DRAFT CONTROL

24 03.38037.000 DRAFT CONTROL

25 03.38018.100 DRAFT CONTROL

26 03.31452.000 CLAMPING PLATE

27 03.37697.100 AIR TUNNEL

28 03.05241.000 ASH BOX

29 03.26386.000 GLASS

30 03.26163.000 GLASS RETAINER

31 03.29042.000 SUPPORT ROPE

32 03.26101.041 GLASS RETAINER

33 03.22201.041 HEXAGON FLANGE BOLT M8X20 BLACK
34 03.13612.000 BUSH @12X@8X3.5

35 03.18710.000 WASHER 8X25

36 04.26419.000 GLASS FIBER ROPE @6MM SELF ADHESIVE
37 03.22204.041 HEXAGON FLANGE BOLT M8X35 BLACK
38 03.19508.000 STUD M8X25

39 03.76320.000 ADJUSTBLE LEG

40 04.26422.000 GLASS FIBER BAND 10X3MM SELF ADHESIVE
41 03.19505.000 STUD M6X35

42 03.18701.000 WASHER 6X18

43 03.19410.000 HEXAGON NUT M6

44 03.19303.041 HEXAGON HEXAGON HEAD SCREW M6X12
45 03.18605.041 SCREW M6X30 BLACK

46 03.19507.000 STUD M8X20

47 03.22203.041 HEXAGON BLIND RIVET NUT M8

48 03.19733.000 SCREW M8X30

49 03.19401.000 HEXAGON NUT M8

50 04.26408.000 GLASS FIBER ROPE @8MM

51 03.17806.000 COILED SPRING PIN 6X30

52 03.58610.100 HINGE PIN

55 03.19801.041 SCREW M5X10 BLACK

56 03.16110.000 CONNECTION NUT HEXAGON M8x24
59 03.28157.100 HEAT SHIELD

60 03.19310.000 HEXAGON HEXAGON HEAD SCREW M8X12
61 03.13619.100 BUSH LATCH 10X8.5X6

62 03.13623.041 BUSH @13XJ10X7.5

|| @



| | Birchdale Cast Iron 0715 07/07/2015 16:35 Page 3 —(@)—

Birchdale Specifications

Nominal heat output 5 kW - Wood 5 kW — Smokeless Fuel
Chimney draft required 12Pa

Height 550 mm

Width 430 mm

Depth 360 mm

Weight 90 kg

Air Requirement N/A ***

Flue Mass Gas Flow 3.4g/s - Wood 4.79/s - Smokeless Fuel
CO @ 13% O? 0.08 vol %

Mean Flue Gas Temperature 274°C - Wood 273°C - Smokeless Fuel
Efficiency 78.3% - Wood 81.5% - Smokeless Fuel
Log Length Up To 300 mm

*** Please note that Building Regulations Document J advises that additional permanent air supply is
required for appliances with an output of above 5Kw.

With modern properties additional air may be required as Document J suggests that adequate air
would be a benefit.

e |f design air permeability =5.0m3/ (h.m?) then 550mm#kW of appliance rated output above 5kW
Or

e If design air permeability <5.0m3/ (h.m?) then 550mm?/kW of appliance rated output

e If in doubt, please consult your registered installer for advice.

NOTE: DO NOT INSTALL IN A ROOM CONTAINING AN EXTRACTOR FAN

‘ 430 | ‘ 360 |
‘ ‘\ ‘ | 1\‘
J
oo [
8|2
W I
8**





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket true
  /DefaultRenderingIntent /Default
  /DetectBlends false
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly true
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox false
  /PDFXBleedBoxToTrimBoxOffset [
    0.30000
    0.30000
    0.30000
    0.30000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Pass4press 0905)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [651.969 898.583]
>> setpagedevice


